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¥ Answer the following questions:

Q.1.The sum of two integers is —215. If one of them is —135, then find the

other. (1x2=2)
_q/r)maé‘ l/»?ﬂ—lSSuﬁ:..uful/G.c"_—ZlS;;f WLl o
Q.2. Find an integer that divides —150 to give —3. (1x2=2)

o3 L ST 502y Sl
Q.3. The difference of two integers is 185. If one of them is 400, then find the
other integer. (1x2=2)

-u_/,’»)ﬂwé‘ !/»?moo..{!ui'ufﬁ -4.185&/'61,«;!5:;

Q.4. The product of two integers is —180. If one of them is 10, then find the
other. (1x2=2)
-u_/,’»)ﬂwé‘ !/»?n10._.64-_‘):@1)7.4‘_—180*/")’561,«9!5;

Q.5. The sum of two integers is —105. If one of them is 95, then find the
other. (1x2=2)
-u,/r,mé‘ l/»?nsvs._gc_‘ﬂufﬁ.c‘_—losﬂf K;wé;
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